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input (primary) voltage

output (secondary) voltage

primary turns

secondary turns
____________________________ = _________________

current in
secondary coilx                    =                              xvoltage across 

the primary coil
current in

primary coil
voltage across

the secondary coil

= ½ x mass x speed2kinetic energy

= mass x                          x heightgravitational 
potential energy

gravitational 
field strength

= work done / timepower

= _____________________ x 100%efficiency useful energy output

total energy input

= force x distance movedwork done

= mass x gravitational field strengthweight

= force xmoment distance perpendicular 
from the pivot

= change in velocity / time takenacceleration

(final speed)2 = (initial speed)2 + (2 x acceleration x distance)

= mass x accelerationforce

= mass x velocitymomentum

= change in momentum / time takenforce

= distance moved / time takenaverage speed

= current x timecharge

= current x resistancevoltage

= current x voltage x timeenergy 
transferred

= current x voltagepower

= charge x voltageenergy 
transferred

= 1 / time periodfrequency

= frequency x wavelengthwave speed

= sin i / sin rn

= 1 / nsin c

= mass x                        xchange in 
thermal energy

specific heat 
capacity

change in 
temperature

= mass / volumedensity

= height x density xpressure 
difference

gravitational 
field strength

= force / areapressure

pressure1 / temperature1 = pressure2 / temperature2

pressure1 x volume1 = pressure2 x volume2

change in wavelength

reference wavelength
velocity of a galaxy

speed of light
_______________________ = ____________________

= ____________________ orbital speed 2 x π x orbital radius

time period
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